Geometry (E)		                    Name: ______________________________________
Substitution Property
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12 Angles 4, 5, and 6 are in the ratio 2:5:3.
Find the measure of each angle.
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8 LW =/STV;

£
TV bisects £STW.
LW = (2x - 5),

LVTW = (x + 15)°

Find: mzSTW
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14 When one-half the supplement of an angle is added to the com-
plement of the angle, the sum is 120°. Find the measure of the

complement.
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7 Given: L_O)MP = /RPM;
MP bisects ZOMR.
=
PM bisects LOPR. M
Prove: LOMR = £OPR
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2 Givem: L1 = /2,
Z 23

Conclusion: £

=/3
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3 Givem: £1 = /3,
£2= 43,
L2=/4

Prove: Z1= 24
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10 Given: £V = /YRX, T
LY = LTRV
Prove: £V =/2Y
X




